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SECTION A: MULTIPLE-CHOICE QUESTIONS (45 MARKS)

1. The long-term financial goal of the firm may be achieved by ...

maximising revenue and minimising expenses.
minimising the cost of capitat and maximising return (IRR)
maximising the assets relative to the liabilities
accelerating cash inflows.

Ll A

2. The primary short-term financial goal of the firm may be best achieved by ...

maximising revenue and minimising expenses.

minimising the cost of capital and maximising return {IRR)
Increasing expenses in order to reduce the firm’s tax hability.
accelerating cash inflows and delaying cash outflows.

Ll

3. Anincrease in sales revenue as a result of a credit sale 1s recorded by ...

1. crediting cash.
2. crediting sales.
3. debiting cash.
4. debiting sales

4. One method often used by companies to ensure that management decisions are in the
best interest of the shareholders is to ...

1. have a shareholder meeting once a year.

2. threaten to fire managers who do not performing adequately.

3. tie management compensation to the performance of the company share price.
4, tie management compensation to the level of earnings per share

5. Vermaak & Associates Ltd has to raise an additional R1 000 000 in equity. The firm
should ideally finance itself by means of ...

1. R300 000 in cash, R1 00 000 in accounts receivable and R600 000 of inventory.

2. R900 000 in debentures, 10 000 ordinary shares at a par value of 100 cents

each and R10 000 in retained earnings.

500 000 ordinary shares at a par value of 200 cents each.

4. K300 000 in debentures and 700 000 non-voting preference shares at 100 cents
each.

W
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6. Afirm’s cash flow becomes more predictable as the

1 current ratio increases

2. return on owners’ equity Increases
3. current habihties decrease

4 current assets decrease

Famous Food Ltd is a newly listed company on the JSE Limited. Please use the following
information to answer questions 7 to 9.

Sales R450 000
Earnings after interest R150 000
Tax 32%
Preference dividends due R50 000
Preference shares 1ssued 5 000
Ordinary shares 1ssued 10 000

7 Calculate the earnings after tax for Famous Food Ltd

1 R102 000
2 R105000
3. R119 000
4 R120 000

8 Calculate the earnings per share (EPS) for Famous Food Ltd.
. R 520
. R10,50

1
2

3 R11,00
4. R12,00

[TURN OVER]
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9. Calculate the net profit margin for Famous Food Ltd.

1 10,40%
2 11,56%
3. 22,67%
4. 26,34%

10.1f accounts receivable increase by R500, inventory increases by R200 and accounts
payable increase by R400, net working capital would ..

1. decrease by R300
2 increase by R300.
3. increase by R700
4. remain unchanged

11. At the operating breakeven point, .. equals zero

1. variable cost

2. fixed cost

3. net profit after tax

4. eamings before interest and tax (EBIT)

12.A company has fixed operating costs of R15 000. Its products are sold at R15 per unit
and the vanable cost per unit is R6. Calculate the company’s breakeven point, in rand.

1 R11114
2. R1 667
3. R16 667
4. R20 000

13. Refer to question 12 above and caiculate the marginal income for the year If the
company sold 22 000 units during the year.

1 R115000
2. R120 000
3. R198 000
4 R300 000

[TURN OVER]
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Use the folloming information for BMC Limited in order to answer questions 14

to 19

Opening inventory R 70000
Closing inventory R 50 000
Cash R 30000
Accounts receivable R 40000
Long-term assets R500 000
Accounts payable R 50000
Equity R270 000
Long-term debt R300 000
Sales R400 000
Cost of goods sold R200 000
Profit before tax R60 000
Tax rate 35%

14. The gross profit margin for BMC Limited is closestto .

1. 20%
2. 50%.
3. 100%.
4 200%.

15.The net profit margin for BMC Limited 1s closest to ..

1. 6.58%.
2. 8.44%.
3 9.75%.
4. 12.43%.

16 The current ratio for BMC Limited is closest to ...

17 The inventory turnover for BMC Limited 1s closest to

1. 2,86 times p.a.
2. 3,33 times p.a. {
3. 4,00 times p a. ;
4. 6,23 times p.a

[TURN OVER]
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18 The average collection period for BMC Limned 1s closest to

1. 36 days
2 80 days.
3. 180 days
4. 360 days.

19 The return on assets (ROA) for BMC Limited 1s closest to ..

1. 6,29%
2. 14,77%.
3. 24,00%.
4 none of the above

20. A firm can best improve its return on equity (ROE) by increasing the . .

1. sales and decreasing expenditure

2. asset turnover and financial leverage.

3. net profit margin.

4. net profit margin, asset turnover and financial leverage

21 A current ratio of 4:1 may indicate that the firm has too much ...

cash

Inventory

accounts receivable.
ali of the above

pPon o

22. Calculate the growth rate of the following stream of cash flows:

2013: 3 600
2012- 3 000
2011: 1 900
2010 1000

23%
26%
43%
53%

LN~
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23.Calculate the future value (FV) of R35 000 invested for six years at an interest rate of
8%, compounded semi-annually

HON o

R14 026
R44 106
R56 036
R76 734

24 How much shouid Conner invest today at 9% interest per annum, compounded
quarterly, to be able to buy a house worth R2 500 000 six years from today?

1

2.
3.
4

R 672971,33
R1 115 564,17
R1 465 616,71
R1 954 322,19

25. Find the present value of the following stream of cash flows by assuming that the

organisation has an opportunity cost of 12%.

Years

Amount (R)

1-3

23 000

4-7

38 000

R 71 203,41
R100 268,41
R122 268,41
R137 395,28

26 If Joel invests R50 000 i an unit trust offenng a rate of return of 17% per annum,

calculate how long it will take for the investment to reach R200 000

AW =

8 80 years
10 80 years
11 40 years
13.50 years

[TURN OVER]
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27.# Brandon invests R5 000 at the beginning of each year at an interest rate of 8% over a
ten-year period, the future value of the investment would be ..

bl oA

R58 687,43.
R60 000,00.
R72 432,81.
R81 000,00

28 SOX Ltd has determined its optimal capital structure, which compnses the following.

Form of capital Weight After-tax cost
Long-term debt 60% 8%
Preference shares 20% 13%
Ordinary shares 20% 10%

The weighted average cost of capital Is . .

PO

5,3%
9,4%
10,4%.
12,1%

29.The after-tax cost of debt for a firm, which has a margial tax rate of 35%, 1s 6%.
Calcuiate the before-tax cost of debt.

el LA

6,0%
8,1%
9,2%
17,1%

30.The best way in which a firm may improve its profitability would involve ...

N =

P

reducing expenditure on non-core business activities
employing fewer permanent staff and using contract workers duning peak

penods.

increasing sales by means of improved marketing

selling all its non-core assets

[TURN OVER]
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31 ABC Limited purchased raw matenals on account and paid for them within 30 days.

32

The raw matertals were used In the manufactunng of fimished goods that were sold on
account 100 days after the raw matenals had been purchased. The customer pad for
the finished goods 60 days later Calculate the company’s cash conversion cycle.

1. 10 days
2 70days
3 130 days
4 190 days

Wiliam, the export manager of an international company, wishes to replace a machine
five years from now with a new machine that will cost R500 000 in five years' time I
equal end-of-year deposits are made into an account paying an annual interest of 9%,
calculate the size of each deposit

R23 535,24
R49 382,38
R83 546,23
RS5 345,78

The financial manager is evaluating a proposal for a new project with the following cash
flows

Year Net cash flows
0 -~-R1 000 000
1 R550 000
2 R350 000
3 R400 000

The payback penod is

one year.
two years

between one and two years.
between two and three years

R
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34. Blue Bay Ltd has made an inittal Investment of R500 000 In a new project The firm’s

cost of capital 1s 12% The investment is expected to generate the following cash
inflows over the next five years.

Year1; | R 50000

Year2: | R 60000

Year 3: | R150 000

Year 4: | R140 000

Year 5; | R500 000

The profitability index (P1) is ..., therefore, the investment should ..

1,14, not be undertaken
1,14; be undertaken.
1,29; be undertaken.
1,29; not be undertaken.

hAON

35.The present value of the cash flows of an investment is expected to total R180 000.
The profitability index is calculated at 1,40. Calculate the initial investment.

R127 562,43
R128 571,43
R142 857,14
R147 857,14

pON~

36.A frm with a cash conversion cycle of 40 days can streich its average payment penod
from 15 days to 20 days. This will result in a/an ...

decrease of 5 days In the cash conversion cycle.
Increase of 5 days in the cash conversion cycle.
decrease of 20 days in the cash conversion cycle.
increase of 20 days In the cash conversion cycle.

bl

[TURN OVER]
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37 A company has a cash conversion cycle of 50 days Annual outlays are R10 million
and the cost of negotiated financing is 9% Calculate its annual savings if the company
reduces Its average age of inventory by 15 days Assume 360 days per year.

R15 679
R17 778
R37 500
R52 500

Ao

38 The cost of a giving-up-cash discount under the terms of sale 4/10 net 351s. (Assume
a 360-day year )

40,11%
60,00%
78,00%
99,34%

W =

39. Calcuiate the difference between the following two investment proposals
(a) R1 401,82 invested annually for five successive years at 9% per annum
(b) R5 209,22 invested for five years at 10% per annum compound Interest

1 RO

2 R36,10
3. RB80,25
4. R100,35

40 A firm has annual sales of 80 C00 units Carrying costs as a percentage of inventory
value i1s 15%. The purchase price per unit 1s R200, while the fixed costs of placing an
order 1s R20 per order The economic order quantity (EOQ) s units

145
327
456
897

BWN -

41 Mr Parker has arranged for a 60-day loan at an annual interest rate of 9,5%. If the loan
amount 1s R1 000 000, how much interest will Mr Parker pay in rand terms? (Assume a
360-day year.)

R12 500
R15 833
R23 556
R45 000

2O -
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42 Calculate the EOQ given the following information

19 00C units used annually, purchased at R60 per unit
Order cost 1s R240 per order
Carrying cost is 9% of inventory value

WP

1 300 units
1 400 units
1 500 units
1 600 units

43 Credit terms of 2/10 net 30 are set for a business. These terms imply .

i S

a 2% discount if paid within 10 days; otherwise, the balance is due in 30 days.
that the bond must be amortised before 2 October 2030

that the lease agreement expires on 10 October 2030.

a 2% discount if paid within 30 days; otherwise, the balance is due in 10 to 30
days.

44.Which one of the following statements is incorrect?

PN~

Relaxation of credit standards will cause an increase In sales volume.
Relaxation of credit standards will cause an increase in accounts receivabie.
Relaxation of credit standards will cause a decrease in bad debt costs.
Tightening of credit standards will cause a decrease in bad debt costs

45. Which stakeholders have the first claim on assets when a firm enters bankruptcy?

bl

Creditors

Top management
Debtors
Shareholders

[TURN OVER]
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SECTION B: LONG QUESTIONS [25 MARKS]
QUESTION 1 (10 MARKS)

The forecasted sales for Bontra Limited for January to Apnl 2018 appear in the table below

Month

January February | March Apni

Sales (R)

250 000 270 000 (200 000 300 000

¢ The company receives 40% of all sales in the month of sale, 30% one month later, and

25% two months later. Five per cent of the company’s sales are wntten off as bad

debts.

» Purchases are valued at 40% of each month’s projected sales

¢ The following cash receipts and cash disbursements should also be taken into account

o}

Rental income for January and February will amount to R50 000 each, while a
5% increase for March and Apnl are forecasted

Depreciation on the company’s vehicles amounts to R10 000 per month,

In March, the company will make a cash contnbution of R40 000 to a local
chanty.

Telephone expenses vary each month The telephone costs for January,
February, March and Apnl are expected to amount to RS 000, R4 000, R6 000
and R4 000, respectively

Salaries are paid as commission, which 1s caiculated at 15% of each month's
sales value

In March, payment for delivery vehicles becomes due and the company needs
to pay R60 000 to its supplher
The retrenchment of two employees in March will cost the company R60 000

The closing cash balance on 31 December 2017 1s R20 000

[TURN OVER]
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REQUIRED

Prepare a cash budget for the months of January, February and March.

January (R) February (R) March (R)

Cash receipts

Total cash inflows

Cash payments

Total cash outflows

Net monthly change

Beginning cash balance

Closing cash balance

[TURN OVER]
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ROUGH WORK (will be marked)
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QUESTION 2 (10 MARKS)

Network Ltd constders investing in a new project that will give them a potential competitive
edge over the competition The outlay of the project will cost R4 000 000 The financial
manager of the company has estimated the cash inflows associated with this new project as
follows:

Year Cash inflow
1 R 200 000
2 R 800 000
3 R 900 000
4 R 2000 000
5 R 3000 000

The firm's cost of capital is 11%.

21  Calculate the net present value (NPV) of investing in the proposed project. 4)

[TURN OVER]
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22  Calculate the internal rate of return (IRR) of investing in the proposed project (rounded
off to the nearest whole percentage) (4)

2.3 Evaluate the acceptability of the proposed project based on your calculations of the
NPV and IRR What recommendation would you make regarding the implementation of
the project to the management of Network Ltd ? (2)

[TURN OVER]
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QUESTION 3 (5 MARKS)

Jasco Electronics Ltd. has a capital structure which consists of 45% debt, 10% preference
shares and 45% ordinary shares The interest rate payable on the loan is 13% The firm’s cost
of preference shares 1s 13% and the cost on ordinary shares is 12% The firm is subject to a
tax rate of 30% Determine the firm’'s weighted average cost of capital (Show all calculations).

[TURN OVER]
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ROUGH WORK

[TURN OVER]
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Table 1- Future-value interest factors for R1 compounded at k per cent for n penods:
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Table 2 Future-value interest factors for a Rt annuity compounded at k per cent for n
penods
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Table 3: Present-value interest factors for R1 discounted at k per cent for n penods:
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Table 4 Present-value interest factors for a R1 annuity discounted at k per cent for n periods
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